Foundations of Math 9

Name:

Section 2 — Informal Check-In — Lock These Concepts Down

Write the following out as repeated multiplication

1. —53 2. (=2)*
3 —(-3)° a. —7r®
5, 2% 33 6. ((=2)*)?

Will the following be negative or positive answers, why?

7 —(=2)* g —(=3)8

9. —34 10. (—t3)?
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Simplify the following, leave answers as a base an exponents.

11. 23.-25-(=2)% 12. (=3)72-(=3)" - (-3)*
13. (—4)7 - —4% + —4° 14. (—w)™¢-—w’ - (-w)°
15, —1°- 10 (=5)? 16, 27 + 23+ 276

17, (=h)® - (=h)* - —h® 18, —(23)*- (22)3 - 274
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19, 32 + (—3)75 - —3°

20.

—24.95. (_2)—3

21 ((=2)* =27 + (=2)")?

Solve the following and get a final answer without exponents.

23. —23 4 22

22.

24,

p-+p +-p

(=3)72 (-3)° = (-3)° + 3

25. —2%+(=2)% + 2%

26.

(24 _ 23 + 21)2



